Bridgeclub Lier *** ClubTornooi *** 4 giften per ronde *** 26/10/2023 NZ OW |gift 1 NZ OW gift 2 NZ OW gift 3 NZ OW gift 4 NZ OwW
1 Stuer Babs-Brems Tony 2 Hens Jan-Van Leuven Marc 1 2 1 5 -450 O4H+1 6 0 -510 W5H+2 4 2 420 Z4H= 0 6 —620 04s=
1 F -C1 Li 4 Meli Helga-B h Annik

3 Ceulemans Freddy-Claessens Lieve SL18 HelgaTbussclops Ahnt 4 7 1 5 -450 O4H+1 | 2 4 -1010 WeH+1| 4 2 420 z4H= 6 0 170 Z3H+1
5 Maertens Guy-Pattyn Patrick 6 Peeters Geert-Braeckmans Leon

5 3 5 1 -420 O4H= 2 4 -1010 WeH+1| 4 2 420 z4H= 2 4 -170 025+2
7 Laeremans Ilse-Janssens Geert 8 De Cat Raf-Cle Hilda

6 8 5 1 —-420 0O4H= 2 4 -1010 WeH+1 0 6 -50 Z4H-1 4 2 140 Z2H+1
NZ OW |gift 5 NZ OW gift 6 NZ OW gift 7 NZ OW gift 8 NZ OW NZ OW |gift 9 NZ OW gift 10 NZ OW gift 11 NZ OW gift 12 NZ OW
1 5 2 4 170 Z2S+2 2 4 -150 W2K+3 0 6 —620 W4S= 2 4 940 Z6K+1 3 1 0 6 -50 z4s-1 1 5 600 N3N= 4 2 400 N5K= 5 1 -100 Z2H-1
2 8 2 4 170 Z2S+2 4 2 —-130 W2K+2 6 0 680 Z4H+2 5 1 1020 Z6N+1 4 8 6 0 170 z3S+1 1 5 600 Z3N= 4 2 400 N5K= 0 6 —-200 Z3H-2
3 4 2 4 170 Z2S+2 6 0 -110 W2R+1 4 2 650 Z4H+1 0 6 520 Z3N+4 5 6 2 4 130 N2R+2 5 1 630 N3N+1 4 2 400 N5K= 5 1 -100 Z2H-1
6 7 6 0 200 O2H-4 0 6 -600 W5K= 2 4 620 Z4H= 5 1 1020 Z6N+1 72 4 2 140 z3s= 5 1 630 Z3N+1 0 6 50 W4H-1 2 4 -150 WIN+2
NZ OW |gift 13 NZ OW gift 14 NZ OW gift 15 NZ OW gift 16 NZ OW NZ OW |gift 17 NZ OW gift 18 NzZ OW gift 19 NZ OW gift 20 Nz OW
2 5 6 0 -230 W3S+3 4 2 520 N3N+4 4 2 -450 wW4s+1 0 6 —-110 W2R+1 1 8 4 2 120 N2N= 3 3 150 N2N+1 3 3 -110 W2s= 5 1 100 WiN-1
4 1 1 5 -680 W4sS+2 6 0 980 N6H= 4 2 -450 wW4s+1l 5 1 110 Z3K= 3 2 1 5 100 W3H-2 0 6 90 NIN= 0 6 —140 W3S= 1 5 -300 Z2H-3
6 3 1 5 —-680 W4sS+2 2 4 420 zZ4s= 0 6 —480 W4S+2 2 4 -50 Z3K-1 4 6 6 0 300 O4H!-2 3 3 150 NIN+2 3 3 -110 W2S= |niet gespeeld
7 8 4 2 -650 W5S= 0 6 -100 Z6H-2 4 2 —450 W4s+1 5 1 110 Z2H= 7 5 1 5 100 O3N-2 6 0 500 W3H!-3 6 0 200 W4S-2 |niet gespeeld
NZ OW |gift 21 NZ OW gift 22 NZ OW gift 23 NZ OW gift 24 NZ OW NZ OW |gift 25 NZ OW gift 26 NZ OW gift 27 NZ OW gift 28 NzZ OW
1 6 4 2 -140 03s= 2 4 400 N5K= 2 4 100 W5K-1 3 3 90 N2K= 3 8 5 1 100 wW2R-1 6 0 -90 OlN= 2 4 -140 O3H= 6 0 620 z4H=
2 4 0 6 —-170 03S+1 5 1 420 N5K+1 0 6 —130 W2K+2 0 6 —-100 N4K!- 5 4 1 5 -110 W3R= 2 4 -120 OIN+1 6 0 50 0O4H-1 2 4 50 W3K-1
5 8 4 2 —-140 02s+1 5 1 420 NS5K+1 6 0 300 W3N-3 3 3 90 N2K= 6 2 1 5 -110 W2R+1 2 4 -120 OIN+1 0 6 —-450 OS5H= 0 6 —-110 W3K=
7 3 4 2 -140 03s= 0 6 —-200 z4s-4 4 2 200 0O4H-2 6 0 150 wW4H-3 7 1 5 1 100 wW2R-1 2 4 -120 OIN+1 4 2 -100 N4R-2 4 2 100 W4K-2




